
CS 378 Lecture 18

Today
Tfinish IBM Model l
- phrase - based MT
- syntactic MT (briefly)
- Neural MT and Squee models

Recaps IBM Model I
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Announcements
-

- Custom FP proposals returned whommay

- Optimal lecture Tuesday
- AY
- A5

Inference in Model I
-
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More complex models
-

: HMM alignment
model

Mail ai - i )
IBM Models 2- 4

Learning Unsupervised learning : Tnf
EM ( Expectation Maximization )
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See 2 seq models
-

key idea : encode source sent w/RNN,
"
decode " target w/another RNN

encoder
I ← Plt .IT/=softmax(whi )
-

hidden hyper am going
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i r 9 I f decoder
Je rais le faire

representation of the French
sentence

Pftlstpltelslpltals,t , ) .

- -



end of
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feed output ti into cell input for
Titi

why ? Model capture word
- wood

dependencies more easily

Training Given sequence pairs (5, t)
loss = { log Phils, t.7.it )

Like in language modeling , assume

everything up until now matches
our reference /gold



Problevin Long - range dependencies
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what we want is a way to

look back at the input more easily

solution : attention


